October 31, 2013

Algebra 1 SOL Released Questions:

What is the quotient of (15x? - 8x —12) and (3x + 2) ? Assume the denominator does not
Operations with Polynomials equal zero,

A 45x° +6x7 - 52r - 24
B 15x*-5x~10

C Sx+6

D 5x-6

PG 2009

3
Which polynomial is equivalent to 8x” +12x when x=07?

Which expression is equivalent to

(4x2 —3x+9)+(7x2 —11) + ("x2 +7x—-2) ?

A 4x2+6
2
A 10x’+4x-4 B 4x2+6x
B 10x2-10x-22
C 10x5+4x*-4 C 4x2+12x
D 11x2+4+4x+4
D 4x*46x?

2010
2010

Which expression is equivalent to 3x2(4x2 +2x +1)?
Which expression is equivalent to 4x(2x2 —x—3) ?

F 6x2-5x-7

F 7x*+5x+4

G 7x*+5x3+4x?
G 6x3-5x2+4+7x H 12x2+6x+3
H 8x2-4x+12 J 12x* 4 6x3 +3x2
J 8x3-4x2-12x
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200




D []-s

Based on the models for x2, x, and 1, which product is represented by
the diagram?

A (x+1)(x+3)
B (2x+3)(x+1)
C  (2x2+43)(x+1)

D (x2+x)(2x2+3x)
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Which polynomial is equivalent to the following expression?

(3x2—2x+5)—(2x2—-5x +1)

x2+3x+4
x2-7x+6
x2-3x-6
x2-7x+4

o0 w>»

2000

If x = 0, what is the quotient when the following division is performed?

Zx) 6x3 +4x2 +2x
F 3x?+2x
G 3x*+2x+1
H 6x°+4x?
J 6x?+4x+42

Which is equivalent to the following expression?
3a(2a +b)

6a?+b
6a? +3ab
5a? +b
5a? 4+ 3ab

“ITrTem

2008

If x = 0, which is equivalent to the following expression?

2x* —6x3 +4x2 +10x
2x

x3-3x2+2x+5
x3—6x3 +4x? +5x

2x3 —6x2 4+ 4x+5

O 0O w >

2x* —6x° 4+ 4x? +5x

200

Which is equivalent to the following expression?
(3x+1)(4x —1)

A 12x2-1

B 12x?-x-1

C 12x2+x-1

D 12x?+7x-1




[The figure above is of r Which

shaded area?
4x-10
x2-6
Xx2-5x+6

T 00>

X2 +5x-6

the

Which expression is equivalent to
~4a(3a — 5b)?

A -12a* + 20ab

B ~12a* — 20ab

C ~12a* + 20a

D ~12a* + 9ab

Given the models below, which figure
represents (x + 2)(x + 3)?

== []== Oo-=1
N2
. ;IIT
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Which polynomial is equivalent to the following expression?

(2x2-5x+s)+(5x2-3x+4)

7x*-8x+10
7x2-2x+10
7x2-8x+2
7x2-2x+2

“Iroe m

Which is equivalent to (2a + 3b — 2¢) +
Ba —4b — ¢) + (a — 5b + 4¢)?

F 5a —6b +c

G 6a —6b —¢
H 6a — 6b +¢
J 6a*— 6b% + ¢*

(8xy)(5x* + 2xy + 3y?) is equivalent to —

F 15x% + 6x%* + 9xy°
15x% + 2xy + 3y*
15x% + 6x%y? + 9xy?
15x% + Bxy + 3y?

“omoe
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Which expression is equivalent to
2x"y(x’y — 3xy")?
— F 2x5y2 _ 6x4y3

G 3x5 2 _ 5x4 3
What is the perimeter of the triangle Y

shown in the drawing? . .
H 2x%% — 6x’y?
A Tx+9
B 8x3+ 9 J 2y — Gay?
C 8" +9
D 10«° + 9
|:] =x2 D =x [=1 If x # 0, which expression is equivalent
to
Consider the models above.
8x" — 22" + 2,
2x
A 6" -2
B 4x° — 2*
What polynomial is represented by this C 6x' —x'+x
diagram? D 4’ -2 +1
A 6x" + 12x
B 2x" +3x + 1
C 6x"+9x + 3
D 9x* + 6x + 3

2008

Consider the following models.
Consider the following models.

(D= O-x o= [J-e - O-
I:l=—xz D:-x o=

Which expression represents the area

of the diagram below?
What polynomial is represented by the
following?
x+4
(JEAS ,  [J0q = x4
=+ =

Ole OO

. A x*+5x+4
Z :z—§—5— B 2x+5

— ix — O

H 3x°+7x — 5 C4§c+10
J 3x*+x—5 D x'+4

2008 2003
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Which expression is equivalent to
(9x + 1)(9x — 1)?

A 18x

B 8lx*—-1

c 187 -1

D 8lx*— 18 — 1

2003

Consider the following models

== Q== o=
@~ O-= o-

What polynomial is represented by this
diagram?

F 4 — 10x — 6
G &°—2x— 6
H 4 +2x— 6
J 4x’ + 10x + 6

200

The length of a rectangular classroom
floor is 19 feet less than twice the
width.

2w - 19

Which expression represents the area
of the classroom floor?

F 3w — 19
6w — 38
2w* — 19w
2w* — 19

“EmaQ
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12x%y — 3x'%® + 21x'%*
3x’y

is equivalent
to —

A 4 -2y + Tx'%°
dxy — 2 + Tx'%?
4 — 'y + Tl

dxy — x’y* + Ta'y?

oDow

2002

Which is equivalent to
(5a" + dx + 1) + ("7x + 2)?

A 22 +6x+ 1
B 5x°—3x—1
C 55" —3x+3
D 5x° + 1lx + 8

200

Which expression is equivalent to
8at — 2a*

2t ¢
F 4x°
G 6x°
H 4" -1

J 6x*— 1




Ben’s Bakery charges a fee of 2d + 25
to deliver d boxes of baked goods while
Dan’s Bakery charges 3d + 20. Which
expression describes how much more
Dan’s Bakery charges than Ben’s
Bakery?

F 5d + 45
G d-5
Hd+5
J d+5
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Which expression correctly represents
the area of the rectangle above?

A 8

B 6(x + 2)

C (x+ 2)x + 6)
D x*+2

The area of a rectangle is given by
A = 6x’y + 4y’x and the width of the
rectangle is w = 2xy. What is the

length, I, of the rectangle if I = %?

F [=3x% + 2y%

G [ = 6x% + 4y*x + 2xy
H [ =4+ 2

J 1=3x+2

Which expression is equivalent to
6x° — 34* + 5x,,
B

A x+5
B ~2x%+ bx
C ?.xz—x+§

3

5
_34+2
D 2¢—3 3

2000

Which expression is equivalent to
(Ba + b)(2a — 4b)?

F 5a — 3b

G 6a® — 4b®

H 5a% — 10ab + 5ab’
J 6a’ — 10ab — 4b*




